_ s ax _
If x=sec y,where y€] 5 , T [,then dy

e —Xy/ X2—1
o X/ X2—1

o —Xy/ X2+ 1

o X+/ X2+ 1
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i fim IO 1YV —4 ,thenk =.....
x->0 X
e 16
o 4
e 8
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1—(In x)2

If f(x) = f dx , where f(1)=0, then f(e) =.......

w‘_k ool—kw‘rl) w|mn
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If y=sin3x,thenthe differential of y =...........

. 3cosBx dx

. 3cos xdx

« —3cos3x dx
« —3cos x dx
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f%\/; Inx dx =........ + C where cis constant
3
« x2(In x3-2)
.xgﬂnx—Z)
.x%ﬂnx3+2)

x2(In x+2)
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If the function f is differentiable twice on the interval[-1, 1] where f! (X) is increasing on ]-1, O[ and
f'(x) is decreasingon10, 1[,

then the statement which must be true from the following is...........

(0, f(0)) is an inflection point.

f(0) is alocal maximum value.

The function f is increasing on ]J0, 1[

The function f is decreasing on ]0, 1[
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lf y=f(X) where y= n2+7 , 6n2x +n=1,

then the normal to the curve of the function at a point lies on it which its X - coordinate equals zero is

parallel to the straight line y =X

parallel to X - axis

parallel to Y - axis

parallel to the straight line y=- X
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dy
If Y =eX Sec X, thend—x= ........ at x=zero
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a
The function f:[-3,-1] — Rwhere f(X) = x + o if the absolute maximum value of f equals -2 and
fis increasing on the interval ]-3,-1[ , then a-=........
o 1

. -1
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The slope of the tangent to the curve Yy =5X |095(X +1) at x=0 equals.........

logse

e In5

e Zero

5 logse
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If yxlog(xs)

zero

3In3

e In3

e=1where x>1, then ﬂ
dx
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If:a,b €]0, %[ then:

fbtan-?x ax + faseCZX ax =
b

a

a-b
.b-a

e 1

e tanb-tan a
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If 0 then th int li th 2 =8x at whi h_Y_%-
y> en the point lies on the curve y at wnic dX dy [ —
* (2,4)
1
. (5,2)
e (1,2/2)

« (0,0)
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ry = aeX and ﬂ=y then B2=..........
dx> 7’
e 1
e 0

. -1
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The maximum value of the function f(X)= sin X + cos X intheinterval |0, —[ is......

NE)

o 1
J2

2
1+./3

2
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dy

I — T at X =
adx

If sin X cosy = — where X and y are the measures of two acute angles, then

T
2 4
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If %: cos20 , % = sin20,
then d_2y= ............. at X = —
yia 8
. 4./2
. 4
. 22
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-3cm pa— ——Bom-o—

.

In the opposite figure:

A candle is placed at 3 cm from a wooden block of height L cm, the wooden block is at a distance 6 cm
from a vertical wall as shown in the figure.

if the length of the candle (x) decreasing by rate 3 cm/hr.

then the rate of change of the length of the shadow of block (y) on'the wall is........... cm/hr
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AY

|

('2’(():)/ - \ > X

y=-2x+4

A(x,y)

In the opposite figure:

If the point A(X ,y) is moving on the straight line whose equation y= —2x+4
where 0< X< 1, the point B is the projection of A on the X—axis’and c(-2, 0),

then the smallest area of A ABC is........... square unite
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If the equation of the tangent to the curve y= -Inx at the point (a , b) which
lies on the curve is y=mx,
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> <

The opposite figure representing the curve €X*Y =3x—2,

and the tangent to the curve at the point A(1, -1) intersecting the axes of coordinates X X' , Y Y’ at

the two points B and C respectively then A divides BT? by ratio............
e 1:2internally
e 2:1 internally
e 1:2 externally

e 2:1 externally
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The opposite figure represents the curves of the two functions g, k on the interval [A , B].

If f is a function where f(X) = (go k)(X) then the correct statement from the following is..........
Y

curve of k(x) curve of g(x)

b|

X

2 c 2

The function f is decreasing on the interval ] A, B |

The function f is increasing on the interval ] A, B [

The function f is increasing on the interval ] A, C [ only

The function f is decreasing on the interval] A, C [ only
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In the interval ] 0, 1 [ the function g is differentiable twice and g"(X) <0,

it  is function where f (x) =g(x) +g(1 — X) then the correct statement from the following is..........

1
« f is decreasing on ] o 1]

o f isdecreasingon] 0,1

o f isincreasingon] 0, 1 |

1
. f isincreasing on | PR 11





